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MeonucSyatem

Eilndule

-fermen
-spalien
alamants : int

Operationsn
iMenucSyatem()
+ilenueSystemi nrig © MenueSysiemcnngt § 87 )
==MenueSystemi)
+MenueSystem( firmen: }
+SELALM firmen © §: vold
stableFirmen() ; woid
+&tart() - vnid

a: Gpalte ) : ink
—datumSinng( date - im } : string
~displayspaiten() - void

Firma Finanzen
aftnBufe atfmbirie

+name : siring = "LCCR{)" ~date : tm

-cagru -umsatz ; inted_t=10

~Lhgry - ~gewinn . inlg4 [=0

daten 1 0.1 | bilanzeumme - int54_t - 0

e -eigenkapial - mis4_t=1U

* Firmad} apedonen
+Firmal name - sfring, £ ) +Finanzen()

+-Firmal} +Finanzen( dabs ; tm, umaatz ; intS4_t, gewinn ; intt4_t, bilanzsumme ; intG4_{, sigenkapdal - infG4_t )
|=setihn] name : string, f: }: void +~Finanzen()

+seiCAGRUmsalz() : void +getatin] date - im, umsaiz ; int64 1, gewinn : Int54 1, blanzsumme : int54 t, eigenkapltal ; int54 17 void
saciCACRGewinn() - void steatoutput() ; void

+gelEawinng |- nt ) intss_t +DRILUMRALT() - intHd_t

«getUmsatz(i: int ) ; intG4_t +getGewinn() - intG4_t

<getMame() : string +getBilanzsumme() : inted_t

+geiBllanzsummed | : il j: inf54 1 +QetEigenkapitall) ; into4 1

sgeiEigenkopial{ i int ) - ni54 t rgetEKAnteil() ; double

sgatFKAnTal | © it ) - dnubis +Detlimeatrrendte() * dnubie

+getUmsalzrendibel i - nt ) : doubds +getDatum{} ; im

<getDatumd i:int } : tm

+gelanzahiTage() . inl

~gelCAGRUmeatz( i int } : sfring

+geilALGHELEwInn 1 - mt ) strmg




